©

@ x?+2x-8=0[-2]

@ x? —4x = 3x[1]

@ 2x*-Tx+6=0[2]

® (x+2)? =9x[2]

® 2x2-15x-8 =08
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@® -6
ax — 2bx = —6x(a + 2b)
2
@ ax*+ay=a(x+y)
®
a(x+y) =b(x+y) = (x+)
" —ab
@ —4x? +16y? = —4(x + 2y)(x — 2y)

® x(2a-b
)+ 2y(2a — b) — z(2a — b) = (2a - b)
a—b)(x—2y) -z



5.

X 4y?—4-2xy O A7 E 5 QL

® x-y-2

@ x-y+4
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® (a-b)? @ (a+b)?
® (ax+b)(cx+d) @ (a+b)(a-Db)
©® (x+a)(x-b)



7.  Z7F5oli Fol 10491 F AAS A, B7F A& W, A% - B 9] 327
(H, A > B)

@® 95 @ 100 ® 105 @ 110 ® 115



30cm o £0.2 AAZLES S| o7} sdem? 7} w7 el
giet, o] AAzg el staet Alze] Zole] 2

D 1lcm @ 2cm ® 3cm @ 4cm ® 5em
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@ (V0.4)2=0.2

(-15)2 =-15

@

® (V0.7)2=0.7



10. o= o2 A FolA a7t fle A2

@ 4x2-12x4+9=0 @ x24+2x+5=0
® 2x2-4x+1=0 @ 4x>-7x+3=0

® 6x-5x2=0



